Numeros que Suman 10 (H)

6+4=
3+47=
3+7=
9+1=
1010 10 20
__+7=10
__+9=10
_ +3=10
__ +8=10
1010 10 20
2+1+ =10

4+ +1=10

7+  +2=10

247+ =10

Rellene los espacios en blanco.

6+4= 2+8= 2+8=
6+4= 4+46= 2+8=
4+ 6= 4+6= 2+8=
3+7= 7+3= 9+ 1=

10 101010 »1070 10 10 1© 10 /21010 10 1¢

6+ =10 . +5=10 1+ =10
_ +1=10  +7=10 _ +4=10
 +2=10 8§+ =10 3+ =10
6+ =10 +1=10 8+ =10

10 101010 ~1070 10 10 1© 10 721010 10 W1¢

_ 4543=10 _ +3+4=10 3+6+__ =10
1 +6+3= +142=10 1+ +7=10
_ +1+1=10 6+1+3=__ 1+3+6=_
 42+4=10 8+1+1= 7+ +1=10
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Numeros que Suman 10 (H) Respuestas
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Rellene los espacios en blanco.
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